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1. Introduction

At the last RAN4 #68bis meeting, the way for summarizing Phase-1 evaluation results was agreed [1].

· Companies to provide Phase-1 results using the attached spreadsheet
· Metric for Phase-1: SNR gain at 70% of maximum throughput
· Baseline receiver: Rel-11 MMSE-IRC
· Companies are encouraged to capture assumptions associated with the results in footnote to tables 
· Rows in the table can be edited/ added as necessary to include results for different TMs, MCS, channel models etc.
· Companies to summarize overall Phase-1 observations
· Interested companies can provide results for additional scenarios such as non-colliding CRS interferers
· Deadline for above: Before RAN4 #69
· TBD:  Compile summary of results across companies for possibly a subset of link level scenarios
· Before or during RAN4 69 meeting
Based on the agreement, in this contribution, we provide the summary of Phase-1 evaluation results of SLIC receiver, which were evaluated in [2].

2. Phase-1 Evaluation Results
2.1. Simulation Assumptions 

In this contribution, NAICS Scenario 1 and the resource utilization (RU) factor of 40% are assumed. The interference profiles that are assumed in the evaluation are summarized in Table 1.

Table 1 – Interference profiles
	SINR range
	SINR_min (dB)
	SINR_max (dB)
	I1/Noc 
percentile
	I1/Noc (dB)
	I2/Noc (dB)

	Low geometry  
(5-25%-CDF)
	-3.74 
	1.08 
	20%
	3.24 
	0.76 

	
	
	
	50%
	7.68 
	2.16 

	
	
	
	80%
	13.83 
	3.31 

	Middle geometry   
(40-60%-CDF)
	3.83 
	7.99 
	20%
	2.27 
	0.17 

	
	
	
	50%
	6.25 
	1.48 

	
	
	
	80%
	12.95 
	3.45 


For the evaluation, we employed the following assumptions.
· Interference parameters knowledge
· Genie knowledge of interference parameters
· Number of processed interference cells
· Up to 1 cell IC
· RS canceller

· 2-cell CRS-IC (TM2/3 evaluation)

· 2-cell CRS-IC/CSIRS-IC, up to 1-cell DMRS-IC (TM9 evaluation)

· Antenna configuration

· 2x2 low correlation (TM2/TM3 evaluation)

· 4x2 low correlation (TM9 evaluation)

· Maximum re-transmission for HARQ
· 4 times for serving cell
The other simulation conditions are summarized in Annex-A, which are the common assumption in Phase-1 evaluation [1].

2.2. Simulation Results 

The results of SLIC receiver are summarized in Table 2 (TM2/TM3) and Table 3 (TM9) corresponding to the geometry range and interference profiles.

Table 2 – TM2/TM3 evaluation results
	Scenario
	Channel Model
	Interference Profile
	Interference Pattern
	TM

(Serving

/I1/I2)
	Interference cell RI

{I1},{I2}
	Interference cell MCS

{I1},{I2}
	Serving cell RI
	Serving cell MCS
	SNR gains vs. Baseline receiver@70% Thp. [dB]

	
	
	
	
	
	
	
	
	
	SLIC

	Scenario 1, 40% RU

Low geometry

(5-25%)
	EPA5
	20%I1/Noc

I1/Noc = 3.24 dB

I2/Noc = 0.76 dB
	ON/ON pattern
	TM2/

TM3/TM2
	{2},{1}
	{5,5},{5}
	1
	{5}
	0.5

	
	
	
	
	
	{2},{1}
	{25,25},{25}
	1
	{5}
	0.6

	
	
	
	ON/OFF pattern
	TM2/

TM3/NA
	{2},{NA}
	{5,5},{NA}
	1
	{5}
	0.7

	
	
	
	
	
	{2},{NA}
	{25,25},{NA}
	1
	{5}
	0.6

	
	
	
	OFF/ON pattern
	TM2/

NA/TM2
	{NA},{1}
	{NA},{5}
	1
	{5}
	1.2

	
	
	
	
	
	{NA},{1}
	{NA},{25}
	1
	{5}
	1.1

	
	
	50%I1/Noc

I1/Noc = 7.68 dB

I2/Noc = 2.16 dB
	ON/ON pattern
	TM2/

TM3/TM2
	{2},{1}
	{5,5},{5}
	1
	{5}
	0.8

	
	
	
	
	
	{2},{1}
	{25,25},{25}
	1
	{5}
	0.7

	
	
	
	ON/OFF pattern
	TM2/

TM3/NA
	{2},{NA}
	{5,5},{NA}
	1
	{5}
	1.6

	
	
	
	
	
	{2},{NA}
	{25,25},{NA}
	1
	{5}
	0.9

	
	
	
	OFF/ON pattern
	TM2/

NA/TM2
	{NA},{1}
	{NA},{5}
	1
	{5}
	2.3

	
	
	
	
	
	{NA},{1}
	{NA},{25}
	1
	{5}
	2.0

	
	
	80%I1/Noc

I1/Noc = 13.83 dB

I2/Noc = 3.31 dB
	ON/ON pattern
	TM2/

TM3/TM2
	{2},{1}
	{5,5},{5}
	1
	{5}
	2.4

	
	
	
	
	
	{2},{1}
	{25,25},{25}
	1
	{5}
	1.2

	
	
	
	ON/OFF pattern
	TM2/

TM3/NA
	{2},{NA}
	{5,5},{NA}
	1
	{5}
	4.2

	
	
	
	
	
	{2},{NA}
	{25,25},{NA}
	1
	{5}
	1.5

	
	
	
	OFF/ON pattern
	TM2/

NA/TM2
	{NA},{1}
	{NA},{5}
	1
	{5}
	3.9

	
	
	
	
	
	{NA},{1}
	{NA},{25}
	1
	{5}
	3.5

	Scenario 1, 40% RU

Middle geometry

(40-60%)
	
	20%I1/Noc

I1/Noc = 2.27 dB

I2/Noc = 0.17 dB
	ON/ON pattern
	TM2/

TM3/TM2
	{2},{1}
	{5,5},{5}
	1
	{14}
	0.1

	
	
	
	
	
	{2},{1}
	{25,25},{25}
	1
	{14}
	0.2

	
	
	
	ON/OFF pattern
	TM2/

TM3/NA
	{2},{NA}
	{5,5},{NA}
	1
	{14}
	0.2

	
	
	
	
	
	{2},{NA}
	{25,25},{NA}
	1
	{14}
	0.3

	
	
	
	OFF/ON pattern
	TM2/

NA/TM2
	{NA},{1}
	{NA},{5}
	1
	{14}
	0.7

	
	
	
	
	
	{NA},{1}
	{NA},{25}
	1
	{14}
	0.8

	
	
	50%I1/Noc

I1/Noc = 6.25 dB

I2/Noc = 1.48 dB
	ON/ON pattern
	TM2/

TM3/TM2
	{2},{1}
	{5,5},{5}
	1
	{14}
	0.3

	
	
	
	
	
	{2},{1}
	{25,25},{25}
	1
	{14}
	0.3

	
	
	
	ON/OFF pattern
	TM2/

TM3/NA
	{2},{NA}
	{5,5},{NA}
	1
	{14}
	0.4

	
	
	
	
	
	{2},{NA}
	{25,25},{NA}
	1
	{14}
	0.3

	
	
	
	OFF/ON pattern
	TM2/

NA/TM2
	{NA},{1}
	{NA},{5}
	1
	{14}
	1.3

	
	
	
	
	
	{NA},{1}
	{NA},{25}
	1
	{14}
	1.4

	
	
	80%I1/Noc

I1/Noc =  12.95 dB

I2/Noc =  3.45 dB
	ON/ON pattern
	TM2/

TM3/TM2
	{2},{1}
	{5,5},{5}
	1
	{14}
	0.7

	
	
	
	
	
	{2},{1}
	{25,25},{25}
	1
	{14}
	0.5

	
	
	
	ON/OFF pattern
	TM2/

TM3/NA
	{2},{NA}
	{5,5},{NA}
	1
	{14}
	0.9

	
	
	
	
	
	{2},{NA}
	{25,25},{NA}
	1
	{14}
	1.1

	
	
	
	OFF/ON pattern
	TM2/

NA/TM2
	{NA},{1}
	{NA},{5}
	1
	{14}
	2.7

	
	
	
	
	
	{NA},{1}
	{NA},{25}
	1
	{14}
	2.7


Table 3 – TM9 evaluation results

	Scenario
	Channel Model
	Interference Profile
	Interference Pattern
	TM

(Serving

/I1/I2)
	Interference cell RI

{I1},{I2}
	Interference cell MCS

{I1},{I2}
	Serving cell RI
	Serving cell MCS
	SNR gains vs. Baseline receiver@70% Thp. [dB]

	
	
	
	
	
	
	
	
	
	SLIC

	Scenario 1, 40% RU

Low geometry

(5-25%)
	EPA5
	20%I1/Noc

I1/Noc = 3.24 dB

I2/Noc = 0.76 dB
	ON/ON pattern
	TM9/

TM9/TM9
	{1},{1}
	{5},{5}
	1
	{5}
	1.2

	
	
	
	
	
	{1},{1}
	{25},{25}
	1
	{5}
	0.7

	
	
	
	ON/OFF pattern
	TM9/

TM9/NA
	{1},{NA}
	{5},{NA}
	1
	{5}
	1.4

	
	
	
	
	
	{1},{NA}
	{25},{NA}
	1
	{5}
	0.9

	
	
	
	OFF/ON pattern
	TM9/

NA/TM9
	{NA},{1}
	{NA},{5}
	1
	{5}
	0.8

	
	
	
	
	
	{NA},{1}
	{NA},{25}
	1
	{5}
	0.6

	
	
	50%I1/Noc

I1/Noc = 7.68 dB

I2/Noc = 2.16 dB
	ON/ON pattern
	TM9/

TM9/TM9
	{1},{1}
	{5},{5}
	1
	{5}
	2.6

	
	
	
	
	
	{1},{1}
	{25},{25}
	1
	{5}
	1.2

	
	
	
	ON/OFF pattern
	TM9/

TM9/NA
	{1},{NA}
	{5},{NA}
	1
	{5}
	2.8

	
	
	
	
	
	{1},{NA}
	{25},{NA}
	1
	{5}
	1.2

	
	
	
	OFF/ON pattern
	TM9/

NA/TM9
	{NA},{1}
	{NA},{5}
	1
	{5}
	1.2

	
	
	
	
	
	{NA},{1}
	{NA},{25}
	1
	{5}
	0.8

	
	
	80%I1/Noc

I1/Noc = 13.83 dB

I2/Noc = 3.31 dB
	ON/ON pattern
	TM9/

TM9/TM9
	{1},{1}
	{5},{5}
	1
	{5}
	4.8

	
	
	
	
	
	{1},{1}
	{25},{25}
	1
	{5}
	1.6

	
	
	
	ON/OFF pattern
	TM9/

TM9/NA
	{1},{NA}
	{5},{NA}
	1
	{5}
	4.4

	
	
	
	
	
	{1},{NA}
	{25},{NA}
	1
	{5}
	1.6

	
	
	
	OFF/ON pattern
	TM9/

NA/TM9
	{NA},{1}
	{NA},{5}
	1
	{5}
	1.5

	
	
	
	
	
	{NA},{1}
	{NA},{25}
	1
	{5}
	1.0

	Scenario 1, 40% RU

Middle geometry

(40-60%)
	
	20%I1/Noc

I1/Noc = 2.27 dB

I2/Noc = 0.17 dB
	ON/ON pattern
	TM9/

TM9/TM9
	{1},{1}
	{5},{5}
	1
	{14}
	0.2

	
	
	
	
	
	{1},{1}
	{25},{25}
	1
	{14}
	0.2

	
	
	
	ON/OFF pattern
	TM9/

TM9/NA
	{1},{NA}
	{5},{NA}
	1
	{14}
	0.3

	
	
	
	
	
	{1},{NA}
	{25},{NA}
	1
	{14}
	0.2

	
	
	
	OFF/ON pattern
	TM9/

NA/TM9
	{NA},{1}
	{NA},{5}
	1
	{14}
	0.2

	
	
	
	
	
	{NA},{1}
	{NA},{25}
	1
	{14}
	0.2

	
	
	50%I1/Noc

I1/Noc = 6.25 dB

I2/Noc = 1.48 dB
	ON/ON pattern
	TM9/

TM9/TM9
	{1},{1}
	{5},{5}
	1
	{14}
	0.6

	
	
	
	
	
	{1},{1}
	{25},{25}
	1
	{14}
	0.3

	
	
	
	ON/OFF pattern
	TM9/

TM9/NA
	{1},{NA}
	{5},{NA}
	1
	{14}
	0.8

	
	
	
	
	
	{1},{NA}
	{25},{NA}
	1
	{14}
	0.2

	
	
	
	OFF/ON pattern
	TM9/

NA/TM9
	{NA},{1}
	{NA},{5}
	1
	{14}
	0.4

	
	
	
	
	
	{NA},{1}
	{NA},{25}
	1
	{14}
	0.3

	
	
	80%I1/Noc

I1/Noc =  12.95 dB

I2/Noc =  3.45 dB
	ON/ON pattern
	TM9/

TM9/TM9
	{1},{1}
	{5},{5}
	1
	{14}
	1.9

	
	
	
	
	
	{1},{1}
	{25},{25}
	1
	{14}
	0.2

	
	
	
	ON/OFF pattern
	TM9/

TM9/NA
	{1},{NA}
	{5},{NA}
	1
	{14}
	2.0

	
	
	
	
	
	{1},{NA}
	{25},{NA}
	1
	{14}
	0.1

	
	
	
	OFF/ON pattern
	TM9/

NA/TM9
	{NA},{1}
	{NA},{5}
	1
	{14}
	0.7

	
	
	
	
	
	{NA},{1}
	{NA},{25}
	1
	{14}
	0.5


The summary of these results are also attached.
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The simulation results including throughput curves are shown in Annex-B.
3. Conclusion
Based on the agreed way forward [1], we provided the summary of Phase-1 evaluation results of SLIC receiver.
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Annex-A
Table A1 – Simulation parameters

	Parameter
	Unit
	Serving
	I1
	I2

	Downlink power allocation
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	dB
	-3
	-3
	-3
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	dB
	-3 (Note 1)
	-3
	-3
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N

at antenna port
	dBm/15kHz
	[-98]
	N/A
	N/A

	BWChannel
	MHz
	10
	10
	10

	Cell Id
	
	0
	6
	1

	Number of control OFDM symbols
	
	2
	2
	2


Note 1:
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Note 2:     Both layers of rank2 transmissions use the same MCS
Note 3:     Fixed wideband PMI for serving cell
Note 4:     Varies randomly from subframe to subframe for interfering cells
Annex-B

[image: image6]
                     (a) ON/ON pattern                          (b) ON/OFF pattern                           (c) OFF/ON pattern
Figure B1 – Throughput for TM2/TM3 in low geometry (5-25%), 20%-ile I1/Noc 


[image: image7]
                     (a) ON/ON pattern                          (b) ON/OFF pattern                           (c) OFF/ON pattern
Figure B2 – Throughput for TM2/TM3 in low geometry (5-25%), 50%-ile I1/Noc


[image: image8]
                     (a) ON/ON pattern                          (b) ON/OFF pattern                           (c) OFF/ON pattern
Figure B3 – Throughput for TM2/TM3 in low geometry (5-25%), 80%-ile I1/Noc

[image: image9]
                     (a) ON/ON pattern                          (b) ON/OFF pattern                           (c) OFF/ON pattern
Figure B4 – Throughput for TM2/TM3 in middle geometry (40-60%), 20%-ile I1/Noc


[image: image10]
                     (a) ON/ON pattern                          (b) ON/OFF pattern                           (c) OFF/ON pattern
Figure B5 – Throughput for TM2/TM3 in middle geometry (40-60%), 50%-ile I1/Noc


[image: image11]
                     (a) ON/ON pattern                          (b) ON/OFF pattern                           (c) OFF/ON pattern
Figure B6 – Throughput for TM2/TM3 in middle geometry (40-60%), 80%-ile I1/Noc


[image: image12]
                     (a) ON/ON pattern                          (b) ON/OFF pattern                           (c) OFF/ON pattern
Figure B7 – Throughput for TM9 in low geometry (5-25%), 20%-ile I1/Noc


[image: image13]
                     (a) ON/ON pattern                          (b) ON/OFF pattern                           (c) OFF/ON pattern
Figure B8 – Throughput for TM9 in low geometry (5-25%), 50%-ile I1/Noc


[image: image14]
                     (a) ON/ON pattern                          (b) ON/OFF pattern                           (c) OFF/ON pattern
Figure B9 – Throughput for TM9 in low geometry (5-25%), 80%-ile I1/Noc

[image: image15]
                     (a) ON/ON pattern                          (b) ON/OFF pattern                           (c) OFF/ON pattern
Figure B10 – Throughput for TM9 in middle geometry (40-60%), 20%-ile I1/Noc

[image: image16]
                     (a) ON/ON pattern                          (b) ON/OFF pattern                           (c) OFF/ON pattern
Figure B11 – Throughput for TM9 in middle geometry (40-60%), 50%-ile I1/Noc

[image: image17]
                     (a) ON/ON pattern                          (b) ON/OFF pattern                           (c) OFF/ON pattern
Figure B12 – Throughput for TM9 in middle geometry (40-60%), 80%-ile I1/Noc
- 4/8 -

[image: image18.png]Throughput (Mbps)

13

12

"

10

STz
Rel11IRC —o=

RICS S interferers
15,5} 125,25}

Throughput (Mbps)

MCS of Interferers
5.5} {25,251

SLICZe=" i
Rel11IRC —8— -8+

S
B

Throughput (Mbps)

FiCS ofinterferers|

Rel11IRC —@=

o 2 4
SINR (dB)

8 -2 o 2 4 &
SINR (d8)

-2 o 2 4
SINR (d8)



[image: image19.png]Throughput (Mbps)

13

12

"

10

MCS of Interferers
18,5}...{25,25}.

SLIC —g= -i3-
Rel11jRC —= -3-

0% Thp,

Throughput (Mbps)

MCS of Interferers
15,5} {25,25}

SLICZ=" i
Rel11IRC —8— -8+

Throughput (Mbps)

FiCS ofinterferers|

Rel11IRC =@

o 2 4
SINR (dB)

-2 o 2 4 &
SINR (d8)

2 4 & 8
SINR (d8)



[image: image20.png]Throughput (Mbps)

13

12

"

10

13 13
MCS of Interferers
16.51.425,25) 12 12
SLC e -
Rel11IRC 8= -
" "
10 10

0%z Thp,

Throughput (Mbps)

SLiCZg=
Rel11IRC —8—

MGES of interferers
15,5} 1{25,25}

B
E.

Throughput (Mbps)

WiCS ofinterferers|

Rel.11IRC —@=

o 2 4
SINR (dB)

o 2 4
SINR (d8)

6

2 4 & 8
SINR (d8)



[image: image21.png]Throughput (Mbps)

13

12

"

10

70%-lle Thp.
WICS o interferers
15,5} 125,25}

SUT =g
Rel11IRC —8= | -@-

Throughput (Mbps)

MCS of Interferers
5.5} {25,251

SLICZg=
Rel11IRC —8—

e
E.

Throughput (Mbps)

Rel11IRC —@=

2 4 & 8
SINR (dB)

-2 o
SINR (d8)

-2 o
SINR (d8)



[image: image22.png]Throughput (Mbps)

13

"

10

12 15,5}...425,26} 12
SLIC —e= <m-
Rel11IRC —@= =~ 0 7
s s
g H
0% Thp, g, H |
£ MCS of Inteiferers | = MCS of Intesferers
g 15.5)..125.25) 5.5 {25,25
g SLE" “o= im- SLE L= im-
i Rel.t1IRC == =& Rel11IRC 8= ~&-
-2 o 2 4 772 2 4 & -2 2 4 &
SINR (dB) SINR (d8) SINR (d8)

MCS$ of Interferers




[image: image23.png]Throughput (Mbps)

13

12

"

10

0% Thp,

13 13
MCS$ of Interferers MCS of Interferers MCS bfInterferers
15,5).{25,28} 12 {6,5).426,25} 12 15,5).{2525}
SLIC —e= <m- SLIC o= -im- SLIC = g
Rel1{IRC = =@~ Rel1{IRC ~@= -@- Rel11IRC —8— -,

Throughput (Mbps)

Throughput (Mbps)

"

10

o 2 4
SINR (dB)

-2 ] 2 4 6 8

SINR (d8)

-2 o 2 4 & 8
SINR (d8)



[image: image24.png]Throughput (Mbps)

4 4
3 e = ° <
2 T2 H
MCS ofnterferers | & MCS of Interferers| & KCS of Inerferers
1 15.5).{25,25} 1 {6.5)..425,25). 1 15542525}
slic et SUIC cm e Slic e
& Reli1IRC —o= Reli1IRC o= ~&- Ref11IRC o=
0 0
-12  -10 -8 -6 -4 -2 i} -12  -10 -8 -6 -4 -2 i} EVIWA -12 -10 -8 -6 -4 -2

SINR (d8) SINR (dB) SINR (dB)



[image: image25.png]Throughput (Mbps)

4 4
a et < ° <
2 =P 5
MCSiof Interferers| £ MCS of Interferery £ MCS of Interferers
1 {451 125,25} 1 {65}, 25,26 1 18.5)..425,25).
SUC e SUC o - SLIC —a-
Rel11IRC —8= -~ Rel11IRC 8= & Rel111RC —8—
EVIWEI -8 -6 -4 -2 o 2 EVIWEI -8 -6 -4 -2 o 2 EVIWEI -8 -6 -4 -2 o 2

SINR (d8) SINR (dB) SINR (dB)



[image: image26.png]Throughput (Mbps)

i T

Throughput (Mbps)
Throughput (Mbps)

MCSof Interferers

MCS of Inteirferer: MCS of Interferers

{6.5).426,.265} L 45,5}..425,25) 15.5}..{25,25}.
SUC g i@m- SLC o= - ¥ SLIC —e—
ReL11IRC —8= @~ Rel11RC —@= ~&- Rel11IRC —8—
-10 -8 -6 -4 -2 o 2 EVIWEI -8 -6 -4 -2 o 2 EVIWEI -8 -6 -4 -2 o 2

SINR (d8) SINR (dB) SINR (dB)



[image: image27.png]Throughput (Mbps)

Ky T TR < <
MCS of Interferers | £ MCS of Interfererd £ MCS of Interferers
stie 8,5} {26,285} 1 45,5)..{25,25). 1 {6,5}.{25,28}
- SLC o= - SLIC —e—
Rel11IRC  —@= -4~ Rel11IRC ~@= =~&- Rel11IRC ==
o o
-12 -10 -8 -6 -4 -2 o -14 12 -10 -8 -6 -4 2 -6 -14 12 -10 -8 -6 4

SINR (d8) SINR (dB) SINR (dB)



[image: image28.png]Throughput (Mbps)

4
et < ° <
MCSofInterferers| £ d MCS of Inteifererd £ ICS of Interferers
{4.5}.{25.28} 1 16,5}..{25,28) 1 15,6}..{25,25}.
SUC e SUC o - SLIC e
Rel11IRC —8= -~ Rel11IRC 8= & Rel111RC —8—
-10 -8 -6 -4 -2 o 2 EVIWEI -8 -6 -4 -2 o 2 EVIWEI -8 -6 -4 -2 o 2

SINR (d8) SINR (dB) SINR (dB)



[image: image29.png]Throughput (Mbps)

stic

Rel111RC

MCSof Interferers

{6.5).425,28}
—— -
- @

Throughput (Mbps)

MCS of Inteirferer:
15.5...425,25;

SLC o= -
Rel11IRC ~@= ~&-

Throughput (Mbps)

Rel11IRC ==

WICS of Interfarers
15,6}..{25,25}.
SLIC —e—

SINR (dB)

E]

6 4 2 0 2

SINR (d8)

SINR (d8)




_1437463337.unknown

_1444826476.xls
CommonAssumptions

		

		COMMON PARAMETER ASSUMPTIONS:

		Parameter				Unit		Serving				I1		I2

		Downlink power allocation				dB		-3				-3		-3

						dB		-3 (Note 1)				-3		-3

		Noc at antenna port				dBm/15kHz		[-98]				N/A		N/A

		E/Noc				dB		Sweep E/Noc to cover SINR range				20% I1/Noc		Conditional median I2/Noc

												50% I1/Noc		Conditional median I2/Noc

												80% I1/Noc		Conditional median I2/Noc

		BWChannel				MHz		10				10		10

		Cell Id						0				6		1

												(Colliding)		(Non-Colliding)

		Number of control OFDM symbols						2				2		2

		Note 1:      P_B = 1

		Note 2:      Both layers of rank2 transmissions use the same MCS

		Note 3:      Fixed wideband PMI for serving cell.

		Note 4:      Varies randomly from subframe to subframe for interfering cells

		Baseline Receiver:   Rel-11 MMSE-IRC receiver

		Metric for Phase-1: SNR gain at 70% of maximum throughput





NTT DOCOMO_TM9

		

		NTT DOCOMO

		Scenario				Interference profile		Interference pattern		TM		Interference cell RI {I1},{I2}		Interference cell MCS		Serving cell RI		Serving cell MCS		SNR gains vs. the Baseline receiver @ 70% Throughput, [dB]										Scenario				Interference profile		Interference pattern		TM		Interference cell RI {I1},{I2}		Interference cell MCS		Serving cell RI		Serving cell MCS		SNR gains vs. the Baseline receiver @ 70% Throughput, [dB]										Scenario				Interference profile		Interference pattern		TM		Interference cell RI {I1},{I2}		Interference cell MCS		Serving cell RI		Serving cell MCS		SNR gains vs. the Baseline receiver @ 70% Throughput, [dB]

				Channel Model						(Serving/I1/I2)				{I1},{I2}						E-LMMSE-IRC		SL-IC		R-ML		L-CW-IC						Channel Model						(Serving/I1/I2)				{I1},{I2}						E-LMMSE-IRC		SL-IC		R-ML		L-CW-IC						Channel Model						(Serving/I1/I2)				{I1},{I2}						E-LMMSE-IRC		SL-IC		R-ML		L-CW-IC

		Scenario 1, 
40% RU				20% I1/Noc		ON/ON pattern		TM9/TM9/TM9		{1},{1}		{5},{5}		1		{5}				1.2								Scenario 1, 
40% RU				50% I1/Noc		ON/ON pattern		TM9/TM9/TM9		{1},{1}		{5},{5}		1		{5}				2.6								Scenario 1, 
40% RU				80% I1/Noc		ON/ON pattern		TM9/TM9/TM9		{1},{1}		{5},{5}		1		{5}				4.8

																		{14}																												{14}																												{14}

		Low geometry (5-25%)		EPA5		I1/Noc = 3.24 dB						{1},{1}		{14},{14}		1		{5}												Low geometry (5-25%)		EPA5		I1/Noc = 7.68 dB						{1},{1}		{14},{14}		1		{5}												Low geometry (5-25%)		EPA5		I1/Noc = 13.83 dB						{1},{1}		{14},{14}		1		{5}

																		{14}																												{14}																												{14}

						I2/Noc = 0.76 dB						{1},{1}		{25},{25}		1		{5}				0.7												I2/Noc = 2.16 dB						{1},{1}		{25},{25}		1		{5}				1.2												I2/Noc = 3.31 dB						{1},{1}		{25},{25}		1		{5}				1.6

																		{14}																												{14}																												{14}

								ON/OFF pattern		TM9/TM9/NA		{1},{NA}		{5},{NA}		1		{5}				1.4														ON/OFF pattern		TM9/TM9/NA		{1},{NA}		{5},{NA}		1		{5}				2.8														ON/OFF pattern		TM9/TM9/NA		{1},{NA}		{5},{NA}		1		{5}				4.4

																		{14}																												{14}																												{14}

												{1},{NA}		{14},{NA}		1		{5}																						{1},{NA}		{14},{NA}		1		{5}																						{1},{NA}		{14},{NA}		1		{5}

																		{14}																												{14}																												{14}

												{1},{NA}		{25},{NA}		1		{5}				0.9																		{1},{NA}		{25},{NA}		1		{5}				1.2																		{1},{NA}		{25},{NA}		1		{5}				1.6

																		{14}																												{14}																												{14}

												{2},{NA}		{5,5},{NA}		1		{5}																						{2},{NA}		{5,5},{NA}		1		{5}																						{2},{NA}		{5,5},{NA}		1		{5}

																		{14}																												{14}																												{14}

												{2},{NA}		{14,14},{NA}		1		{5}																						{2},{NA}		{14,14},{NA}		1		{5}																						{2},{NA}		{14,14},{NA}		1		{5}

																		{14}																												{14}																												{14}

								OFF/ON pattern		TM9/NA/TM9		{NA},{1}		{NA},{5}		1		{5}				0.8														OFF/ON pattern		TM9/NA/TM9		{NA},{1}		{NA},{5}		1		{5}				1.2														OFF/ON pattern		TM9/NA/TM9		{NA},{1}		{NA},{5}		1		{5}				1.5

																		{14}																												{14}																												{14}

												{NA},{1}		{NA},{14}		1		{5}																						{NA},{1}		{NA},{14}		1		{5}																						{NA},{1}		{NA},{14}		1		{5}

																		{14}																												{14}																												{14}

												{NA},{1}		{NA},{25}		1		{5}				0.6																		{NA},{1}		{NA},{25}		1		{5}				0.8																		{NA},{1}		{NA},{25}		1		{5}				1

																		{14}																												{14}																												{14}

												{NA},{2}		{NA},{5,5}		1		{5}																						{NA},{2}		{NA},{5,5}		1		{5}																						{NA},{2}		{NA},{5,5}		1		{5}

																		{14}																												{14}																												{14}

												{NA},{2}		{NA},{14,14}		1		{5}																						{NA},{2}		{NA},{14,14}		1		{5}																						{NA},{2}		{NA},{14,14}		1		{5}

																		{14}																												{14}																												{14}

		Scenario				Interference profile		Interference pattern		TM		Interference cell RI {I1},{I2}		Interference cell MCS		Serving cell RI		Serving cell MCS		SNR gains vs. the Baseline receiver @ 70% Throughput, [dB]										Scenario				Interference profile		Interference pattern		TM		Interference cell RI {I1},{I2}		Interference cell MCS		Serving cell RI		Serving cell MCS		SNR gains vs. the Baseline receiver @ 70% Throughput, [dB]										Scenario				Interference profile		Interference pattern		TM		Interference cell RI {I1},{I2}		Interference cell MCS		Serving cell RI		Serving cell MCS		SNR gains vs. the Baseline receiver @ 70% Throughput, [dB]

				Channel Model						(Serving/I1/I2)				{I1},{I2}						E-LMMSE-IRC		SL-IC		R-ML		L-CW-IC						Channel Model						(Serving/I1/I2)				{I1},{I2}						E-LMMSE-IRC		SL-IC		R-ML		L-CW-IC						Channel Model						(Serving/I1/I2)				{I1},{I2}						E-LMMSE-IRC		SL-IC		R-ML		L-CW-IC

		Scenario 1, 
40% RU				20% I1/Noc		ON/ON pattern		TM9/TM9/TM9		{1},{1}		{5},{5}		1		{5}												Scenario 1, 
40% RU				50% I1/Noc		ON/ON pattern		TM9/TM9/TM9		{1},{1}		{5},{5}		1		{5}												Scenario 1, 
40% RU				80% I1/Noc		ON/ON pattern		TM9/TM9/TM9		{1},{1}		{5},{5}		1		{5}

																		{14}				0.2																								{14}				0.6																								{14}				1.9

		Middle geometry 
(40-60%)		EPA5		I1/Noc = 2.27 dB						{1},{1}		{14},{14}		1		{5}												Middle geometry 
(40-60%)		EPA5		I1/Noc = 6.25 dB						{1},{1}		{14},{14}		1		{5}												Middle geometry 
(40-60%)		EPA5		I1/Noc = 12.95 dB						{1},{1}		{14},{14}		1		{5}

																		{14}																												{14}																												{14}

						I2/Noc = 0.17 dB						{1},{1}		{25},{25}		1		{5}																I2/Noc = 1.48 dB						{1},{1}		{25},{25}		1		{5}																I2/Noc = 3.45 dB						{1},{1}		{25},{25}		1		{5}

																		{14}				0.2																								{14}				0.3																								{14}				0.2

								ON/OFF pattern		TM9/TM9/NA		{1},{NA}		{5},{NA}		1		{5}																		ON/OFF pattern		TM9/TM9/NA		{1},{NA}		{5},{NA}		1		{5}																		ON/OFF pattern		TM9/TM9/NA		{1},{NA}		{5},{NA}		1		{5}

																		{14}				0.3																								{14}				0.8																								{14}				2

												{1},{NA}		{14},{NA}		1		{5}																						{1},{NA}		{14},{NA}		1		{5}																						{1},{NA}		{14},{NA}		1		{5}

																		{14}																												{14}																												{14}

												{1},{NA}		{25},{NA}		1		{5}																						{1},{NA}		{25},{NA}		1		{5}																						{1},{NA}		{25},{NA}		1		{5}

																		{14}				0.2																								{14}				0.2																								{14}				0.1

												{2},{NA}		{5,5},{NA}		1		{5}																						{2},{NA}		{5,5},{NA}		1		{5}																						{2},{NA}		{5,5},{NA}		1		{5}

																		{14}																												{14}																												{14}

												{2},{NA}		{14,14},{NA}		1		{5}																						{2},{NA}		{14,14},{NA}		1		{5}																						{2},{NA}		{14,14},{NA}		1		{5}

																		{14}																												{14}																												{14}

								OFF/ON pattern		TM9/NA/TM9		{NA},{1}		{NA},{5}		1		{5}																		OFF/ON pattern		TM9/NA/TM9		{NA},{1}		{NA},{5}		1		{5}																		OFF/ON pattern		TM9/NA/TM9		{NA},{1}		{NA},{5}		1		{5}

																		{14}				0.2																								{14}				0.4																								{14}				0.7

												{NA},{1}		{NA},{14}		1		{5}																						{NA},{1}		{NA},{14}		1		{5}																						{NA},{1}		{NA},{14}		1		{5}

																		{14}																												{14}																												{14}

												{NA},{1}		{NA},{25}		1		{5}																						{NA},{1}		{NA},{25}		1		{5}																						{NA},{1}		{NA},{25}		1		{5}

																		{14}				0.2																								{14}				0.3																								{14}				0.5

												{NA},{2}		{NA},{5,5}		1		{5}																						{NA},{2}		{NA},{5,5}		1		{5}																						{NA},{2}		{NA},{5,5}		1		{5}

																		{14}																												{14}																												{14}

												{NA},{2}		{NA},{14,14}		1		{5}																						{NA},{2}		{NA},{14,14}		1		{5}																						{NA},{2}		{NA},{14,14}		1		{5}

																		{14}																												{14}																												{14}

		Assumptions:

		1.         Interference parameters knowledge: genie knowledge of interference parameters

		2.         Number of processed interference cells: up to 1 cell IS/IC

		Other Assumptions

		RS canceller: 2-cell CRS-IC/CSIRS-IC are employed, up to 1-cell DMRS-IC is employed

		Antenna configuration: 4x2 low correlation

		Maximum re-transmission for HARQ: 4 for serving cell





NTT DOCOMO_TM3

		

		NTT DOCOMO

		Scenario				Interference profile		Interference pattern		TM		Interference cell RI {I1},{I2}		Interference cell MCS		Serving cell RI		Serving cell MCS		SNR gains vs. the Baseline receiver @ 70% Throughput, [dB]										Scenario				Interference profile		Interference pattern		TM		Interference cell RI {I1},{I2}		Interference cell MCS		Serving cell RI		Serving cell MCS		SNR gains vs. the Baseline receiver @ 70% Throughput, [dB]										Scenario				Interference profile		Interference pattern		TM		Interference cell RI {I1},{I2}		Interference cell MCS		Serving cell RI		Serving cell MCS		SNR gains vs. the Baseline receiver @ 70% Throughput, [dB]

				Channel Model						(Serving/I1/I2)				{I1},{I2}						E-LMMSE-IRC		SL-IC		R-ML		L-CW-IC						Channel Model						(Serving/I1/I2)				{I1},{I2}						E-LMMSE-IRC		SL-IC		R-ML		L-CW-IC						Channel Model						(Serving/I1/I2)				{I1},{I2}						E-LMMSE-IRC		SL-IC		R-ML		L-CW-IC

		Scenario 1, 
40% RU				20% I1/Noc		ON/ON pattern		TM2/TM3/TM2		{2},{1}		{5,5},{5}		1		{5}				0.5								Scenario 1, 
40% RU				50% I1/Noc		ON/ON pattern		TM2/TM3/TM2		{2},{1}		{5,5},{5}		1		{5}				0.8								Scenario 1, 
40% RU				80% I1/Noc		ON/ON pattern		TM2/TM3/TM2		{2},{1}		{5,5},{5}		1		{5}				2.4

																		{14}																												{14}																												{14}

		Low geometry (5-25%)		EPA5		I1/Noc = 3.24 dB						{2},{1}		{14,14},{14}		1		{5}												Low geometry (5-25%)		EPA5		I1/Noc = 7.68 dB						{2},{1}		{14,14},{14}		1		{5}												Low geometry (5-25%)		EPA5		I1/Noc = 13.83 dB						{2},{1}		{14,14},{14}		1		{5}

																		{14}																												{14}																												{14}

						I2/Noc = 0.76 dB						{2},{1}		{25,25},{25}		1		{5}				0.6												I2/Noc = 2.16 dB						{2},{1}		{25,25},{25}		1		{5}				0.7												I2/Noc = 3.31 dB						{2},{1}		{25,25},{25}		1		{5}				1.2

																		{14}																												{14}																												{14}

								ON/OFF pattern		TM2/TM3/NA		{1},{NA}		{5},{NA}		1		{5}																		ON/OFF pattern		TM2/TM3/NA		{1},{NA}		{5},{NA}		1		{5}																		ON/OFF pattern		TM2/TM3/NA		{1},{NA}		{5},{NA}		1		{5}

																		{14}																												{14}																												{14}

												{1},{NA}		{14},{NA}		1		{5}																						{1},{NA}		{14},{NA}		1		{5}																						{1},{NA}		{14},{NA}		1		{5}

																		{14}																												{14}																												{14}

												{1},{NA}		{25},{NA}		1		{5}																						{1},{NA}		{25},{NA}		1		{5}																						{1},{NA}		{25},{NA}		1		{5}

																		{14}																												{14}																												{14}

												{2},{NA}		{5,5},{NA}		1		{5}				0.7																		{2},{NA}		{5,5},{NA}		1		{5}				1.6																		{2},{NA}		{5,5},{NA}		1		{5}				4.2

																		{14}																												{14}																												{14}

												{2},{NA}		{14,14},{NA}		1		{5}																						{2},{NA}		{14,14},{NA}		1		{5}																						{2},{NA}		{14,14},{NA}		1		{5}

																		{14}																												{14}																												{14}

												{2},{NA}		{25,25},{NA}		1		{5}				0.6																		{2},{NA}		{25,25},{NA}		1		{5}				0.9																		{2},{NA}		{25,25},{NA}		1		{5}				1.5

																		{14}																												{14}																												{14}

								OFF/ON pattern		TM2/NA/TM2		{NA},{1}		{NA},{5}		1		{5}				1.2														OFF/ON pattern		TM2/NA/TM2		{NA},{1}		{NA},{5}		1		{5}				2.3														OFF/ON pattern		TM2/NA/TM2		{NA},{1}		{NA},{5}		1		{5}				3.9

																		{14}																												{14}																												{14}

												{NA},{1}		{NA},{14}		1		{5}																						{NA},{1}		{NA},{14}		1		{5}																						{NA},{1}		{NA},{14}		1		{5}

																		{14}																												{14}																												{14}

												{NA},{1}		{NA},{25}		1		{5}				1.1																		{NA},{1}		{NA},{25}		1		{5}				2																		{NA},{1}		{NA},{25}		1		{5}				3.5

																		{14}																												{14}																												{14}

												{NA},{2}		{NA},{5,5}		1		{5}																						{NA},{2}		{NA},{5,5}		1		{5}																						{NA},{2}		{NA},{5,5}		1		{5}

																		{14}																												{14}																												{14}

												{NA},{2}		{NA},{14,14}		1		{5}																						{NA},{2}		{NA},{14,14}		1		{5}																						{NA},{2}		{NA},{14,14}		1		{5}

																		{14}																												{14}																												{14}

		Scenario				Interference profile		Interference pattern		TM		Interference cell RI {I1},{I2}		Interference cell MCS		Serving cell RI		Serving cell MCS		SNR gains vs. the Baseline receiver @ 70% Throughput, [dB]										Scenario				Interference profile		Interference pattern		TM		Interference cell RI {I1},{I2}		Interference cell MCS		Serving cell RI		Serving cell MCS		SNR gains vs. the Baseline receiver @ 70% Throughput, [dB]										Scenario				Interference profile		Interference pattern		TM		Interference cell RI {I1},{I2}		Interference cell MCS		Serving cell RI		Serving cell MCS		SNR gains vs. the Baseline receiver @ 70% Throughput, [dB]

				Channel Model						(Serving/I1/I2)				{I1},{I2}						E-LMMSE-IRC		SL-IC		R-ML		L-CW-IC						Channel Model						(Serving/I1/I2)				{I1},{I2}						E-LMMSE-IRC		SL-IC		R-ML		L-CW-IC						Channel Model						(Serving/I1/I2)				{I1},{I2}						E-LMMSE-IRC		SL-IC		R-ML		L-CW-IC

		Scenario 1, 
40% RU				20% I1/Noc		ON/ON pattern		TM2/TM3/TM2		{2},{1}		{5,5},{5}		1		{5}												Scenario 1, 
40% RU				50% I1/Noc		ON/ON pattern		TM2/TM3/TM2		{2},{1}		{5,5},{5}		1		{5}												Scenario 1, 
40% RU				80% I1/Noc		ON/ON pattern		TM2/TM3/TM2		{2},{1}		{5,5},{5}		1		{5}

																		{14}				0.1																								{14}				0.3																								{14}				0.7

		Middle geometry 
(40-60%)		EPA5		I1/Noc = 2.27 dB						{2},{1}		{14,14},{14}		1		{5}												Middle geometry 
(40-60%)		EPA5		I1/Noc = 6.25 dB						{2},{1}		{14,14},{14}		1		{5}												Middle geometry 
(40-60%)		EPA5		I1/Noc = 12.95 dB						{2},{1}		{14,14},{14}		1		{5}

																		{14}																												{14}																												{14}

						I2/Noc = 0.17 dB						{2},{1}		{25,25},{25}		1		{5}																I2/Noc = 1.48 dB						{2},{1}		{25,25},{25}		1		{5}																I2/Noc = 3.45 dB						{2},{1}		{25,25},{25}		1		{5}

																		{14}				0.2																								{14}				0.3																								{14}				0.5

								ON/OFF pattern		TM2/TM3/NA		{1},{NA}		{5},{NA}		1		{5}																		ON/OFF pattern		TM2/TM3/NA		{1},{NA}		{5},{NA}		1		{5}																		ON/OFF pattern		TM2/TM3/NA		{1},{NA}		{5},{NA}		1		{5}

																		{14}																												{14}																												{14}

												{1},{NA}		{14},{NA}		1		{5}																						{1},{NA}		{14},{NA}		1		{5}																						{1},{NA}		{14},{NA}		1		{5}

																		{14}																												{14}																												{14}

												{1},{NA}		{25},{NA}		1		{5}																						{1},{NA}		{25},{NA}		1		{5}																						{1},{NA}		{25},{NA}		1		{5}

																		{14}																												{14}																												{14}

												{2},{NA}		{5,5},{NA}		1		{5}																						{2},{NA}		{5,5},{NA}		1		{5}																						{2},{NA}		{5,5},{NA}		1		{5}

																		{14}				0.2																								{14}				0.4																								{14}				0.9

												{2},{NA}		{14,14},{NA}		1		{5}																						{2},{NA}		{14,14},{NA}		1		{5}																						{2},{NA}		{14,14},{NA}		1		{5}

																		{14}																												{14}																												{14}

												{2},{NA}		{25,25},{NA}		1		{5}																						{2},{NA}		{25,25},{NA}		1		{5}																						{2},{NA}		{25,25},{NA}		1		{5}

																		{14}				0.3																								{14}				0.3																								{14}				1.1

								OFF/ON pattern		TM2/NA/TM2		{NA},{1}		{NA},{5}		1		{5}																		OFF/ON pattern		TM2/NA/TM2		{NA},{1}		{NA},{5}		1		{5}																		OFF/ON pattern		TM2/NA/TM2		{NA},{1}		{NA},{5}		1		{5}

																		{14}				0.7																								{14}				1.3																								{14}				2.7

												{NA},{1}		{NA},{14}		1		{5}																						{NA},{1}		{NA},{14}		1		{5}																						{NA},{1}		{NA},{14}		1		{5}

																		{14}																												{14}																												{14}

												{NA},{1}		{NA},{25}		1		{5}																						{NA},{1}		{NA},{25}		1		{5}																						{NA},{1}		{NA},{25}		1		{5}

																		{14}				0.8																								{14}				1.4																								{14}				2.7

												{NA},{2}		{NA},{5,5}		1		{5}																						{NA},{2}		{NA},{5,5}		1		{5}																						{NA},{2}		{NA},{5,5}		1		{5}

																		{14}																												{14}																												{14}

												{NA},{2}		{NA},{14,14}		1		{5}																						{NA},{2}		{NA},{14,14}		1		{5}																						{NA},{2}		{NA},{14,14}		1		{5}

																		{14}																												{14}																												{14}

		Assumptions:

		1.         Interference parameters knowledge: genie knowledge of interference parameters

		2.         Number of processed interference cells: up to 1 cell IS/IC

		Other Assumptions

		RS canceller: 2-cell CRS-IC is employed

		Antenna configuration: 2x2 low correlation

		Maximum re-transmission for HARQ: 4 for serving cell





Company Y

		

		Company Y

		Scenario				Interference profile		Interference pattern		TM		Interference cell RI {I1},{I2}		Interference cell MCS		Serving cell RI		Serving cell MCS		SNR gains vs. the Baseline receiver @ 70% Throughput, [dB]

				Channel Model						(Serving/I1/I2)				{I1},{I2}						E-LMMSE-IRC		SL-IC		R-ML		L-CW-IC

		Scenario 1, [X]% RU				[X]% I1/Noc		ON/ON pattern		TM4/TM4/TM4		{1},{1}		{5},{5}		1		{5}

																		{14}

		TBD SINR ([X-Y]%)		TBD		I1/Noc = [] dB						{1},{1}		{14},{14}		1		{5}

																		{14}

						I2/Noc = [] dB						{1},{1}		{25},{25}		1		{5}

																		{14}

								ON/OFF pattern		TM4/TM4/NA		{1},{NA}		{5},{NA}		1		{5}

																		{14}

												{1},{NA}		{14},{NA}		1		{5}

																		{14}

												{1},{NA}		{25},{NA}		1		{5}

																		{14}

												{2},{NA}		{5,5},{NA}		1		{5}

																		{14}

												{2},{NA}		{14,14},{NA}		1		{5}

																		{14}

		Assumptions:

		1.         Interference parameters knowledge: [genie knowledge of interference parameters]

		2.         Number of processed interference cells: [up to 2 cell IS/IC]

		Other Assumptions





Company Z

		

		Company Z

		Scenario				Interference profile		Interference pattern		TM		Interference cell RI {I1},{I2}		Interference cell MCS		Serving cell RI		Serving cell MCS		SNR gains vs. the Baseline receiver @ 70% Throughput, [dB]

				Channel Model						(Serving/I1/I2)				{I1},{I2}						E-LMMSE-IRC		SL-IC		R-ML		L-CW-IC

		Scenario 1, [X]% RU				[X]% I1/Noc		ON/ON pattern		TM9/TM9/TM9		{1},{1}		{5},{5}		1		{5}

																		{14}

		TBD SINR ([X-Y]%)		TBD		I1/Noc = [] dB						{1},{1}		{14},{14}		1		{5}

																		{14}

						I2/Noc = [] dB						{1},{1}		{25},{25}		1		{5}

																		{14}

								ON/OFF pattern		TM9/TM9/NA		{1},{NA}		{5},{NA}		1		{5}

																		{14}

												{1},{NA}		{14},{NA}		1		{5}

																		{14}

												{1},{NA}		{25},{NA}		1		{5}

																		{14}

												{2},{NA}		{5,5},{NA}		1		{5}

																		{14}

												{2},{NA}		{14,14},{NA}		1		{5}

																		{14}

		Assumptions:

		1.         Interference parameters knowledge: [genie knowledge of interference parameters]

		2.         Number of processed interference cells: [up to 2 cell IS/IC]

		Other Assumptions





Summary--TM9R1-TM9R1-TM9R1

		

		TBD: Link level scenario 1: (Sample format below)

				Companies		SNR gains vs. the Baseline receiver @ 70% Throughput, [dB]

		Scenario, MCS and Interf. Profile				ELMMSE-IRC		SLIC		R-ML		L-CWIC		Other receiver

				Company 1

		RU = R%		Company 2

		SINR = (X-Y dB)		Company 3

		MCS x/y/z		Company 4

		On-Off Pattern used

		Int. Profile:

		I1/Noc = xx dB

		I2/Noc = yy dB

		Channel Model: XYZ

		Other Parameters

		TBD: Link level scenario 2:

		TBD: Link level scenario 3:

		TBD: Link level scenario 4:





Summary--TM4R1-TM4R1-TM4R1

		

		TBD: Link level scenario 1: (Sample format below)

				Companies		SNR gains vs. the Baseline receiver @ 70% Throughput, [dB]

		Scenario, MCS and Interf. Profile				ELMMSE-IRC		SLIC		R-ML		L-CWIC		Other receiver

				Company 1

		RU = R%		Company 2

		SINR = (X-Y dB)		Company 3

		MCS x/y/z		Company 4

		On-Off Pattern used

		Int. Profile:

		I1/Noc = xx dB

		I2/Noc = yy dB

		Channel Model: XYZ

		Other Parameters

		TBD: Link level scenario 2:

		TBD: Link level scenario 3:

		TBD: Link level scenario 4:
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